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(A) < faeTer (B) 3R faaprer (C) IR & fawrer (D) B 9+ B
49. The cause of Bhopal Gas Tragedy was

(A) CFC (B) DDT (C) MIC (D) None of these
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(A) CFC (B) DDT (C) MIC (D) 9T (AL 7
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(A) CFC (B) DDT (C) MIC (D) F1 ufy A
50. The person who coined the term ‘ecology’ was

(A) Bufo (B) Earnest Haeckel (C) C.C Park (D) None of these

AN FPeCr *%b I P —

(A) I B) WG @@a (C) B =i (D) €T3 FICAHL 97

‘ecology’ ¥Isg Bl X@RYT B §T —

(A) gw1 (B) 3RA gPel ©) . & (D) {7 Ui BrsA
51. The intensity of earthquake is measured in

(A) Decibels (B) Linnean Scale  (C) Richter Scale (D) Linear Scale

SRR Sl Mo = —

(A) EPEa (B) feifeze cxeet (C) <o cxea (D) ferfeanz ez

GEEICICANRERIISIEE REa S | s

(A) SHEA (B) faf s e (C) RoR wd (D) faf R wbat
52, The percentage of nitrogen in air is

(A)21.6 (B) 24.3 (C) 784 (D) 27.8

NS MBI =IO Aot 7 —

(A)21.6 (B)24.3 (C)78.4 (D) 27.8

BIAMT AEEIS Pl 8RR Ufed g6 —

(A)21.6 (B) 24.3 (C)78.4 (D) 27.8
53, Ozone layer is important because

(A) Sunlight cannot pass through it (B) Sunlight can pass through it

(C) UV rays can pass through it (D) UV rays cannot pass through it

SLEI B @l @ TR @ -

(A) @3 ey e o 7 s =fiea =t (B) &3 3ty faca o 7 s st

(C) @3ty Tz &fe @at 7 @re i (D) @3 Wty ey wife et 3 @ee A =t

“Irsirpl-dre” fr=foRead eRUS Agwye B —

(A) gIaT fHvor aveTe 59 doed (B) gI®T fxor Igere B oo

(C) UV farvres geee o4 oo (D) UV farures ggEre &5 qooq
54. The process of energy transfer from one trophic level to another is called as

(A) Food web (B) Food pyramid (C) Food chain (D) Trophic level
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